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Multiple Choice:
÷ = ____

Task: 
Write a division problem 
using two proper fractions 
which results in a quotient 
of .

Multiple Choice:
÷  = ____

Task: 
A certain recipe requires 
 cups of milk for each     cups

of flour used.  If the cook 
has 2 cups of milk and 
wants to use it all in the 
recipe, determine how 
much flour should be used 
in the recipe.

Multiple Choice:
yards is equivalent 

to how many feet?

Task: 
Holly has 8    feet of ribbon to
make bows. Each bow must 
be at least feet long. 
Determine the most number 
of bows Holly can make.

Multiple Choice:
         feet is equivalent 
to how many yards?
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Task: 
Write a division problem 
using two improper fractions 
which results in a quotient 
of     .6
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The Number System
Cluster A: Apply and extend previous understandings of multiplication 

and division to divide fractions by fractions. (6.NS.1)
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Multiple Choice: Task:

Multiple Choice:

Multiple Choice:

Multiple Choice: Task:
4 bows
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Task:
Possible answer:
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Possible answer:
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